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logarithmic Va, Vo-data
log Va =( logMo+logLo)/2
log Vo = logVa + 0,01
log [ Vo, Va, Mo, Lo ]

uλ=(λ − 550) / 50
logMo= −0,35[uλ−u545]

2

logLo = −0,35[uλ−u570]
2

Adaptation: λML=557
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logarithmic Va, Vo-data
log Va =( logMo+logLo)/2
log Vo = logVa + 0,01
log [ Vo, Va, Mo, Lo ]

uλ=(λ − 550) / 50
logMo= −0,35[uλ−u545]

2

logLo = −0,35[uλ−u570]
2

Adaptation: λML=557
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625490

CEK41−3A

545570595

λ /nm

uλ

logarithmic La, Lo-data
log La =( logMo+logOo)/2
log Lo = logLa + 0,07
log [ Lo, La, Mo, Oo ]

uλ=(λ − 550) / 50
logMo= −0,35[uλ−u545]

2

logOo = −0,35[uλ−u595]
2

Adaptation: λMO=570
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Threshold
ta=0,10
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λ /nm

uλ

logarithmic La, Lo-data
log La =( logMo+logOo)/2
log Lo = logLa + 0,07
log [ Lo, La, Mo, Oo ]

uλ=(λ − 550) / 50
logMo= −0,35[uλ−u545]

2

logOo = −0,35[uλ−u595]
2

Adaptation: λMO=570
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CEK41−5A

545570595

λ /nm

uλ

logarithmic La, Lo-data
log La =( logMo+logOo)/2
log Lo = logLa + 0,07
log [ Lo, La, Mo, Oo ]

uλ=(λ − 550) / 50
logMo= −0,35[uλ−u545]

2

logOo = −0,35[uλ−u595]
2

Adaptation: λMO=570
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log(Lm)=−0,07
Lm=0,83
Threshold
ta=0,10

CEK41−6A

545570595

λ /nm

uλ

logarithmic La, Lo-data
log La =( logMo+logOo)/2
log Lo = logLa + 0,07
log [ Lo, La, Mo, Oo ]

uλ=(λ − 550) / 50
logMo= −0,35[uλ−u545]

2

logOo = −0,35[uλ−u595]
2

Adaptation: λMO=570

La
Mo−Oo=2(Mo−La)
Oo−Mo=2(Oo−La)
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CEK41−7A
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λ /nm

uλ

logarithmic La, Lo-data
log La =( logGo+logRo)/2
log Lo = logLa + 0,30
log [ Lo, La, Go, Ro ]

uλ=(λ − 550) / 50
logGo = −0,35[uλ−u520]

2

logRo = −0,35[uλ−u620]
2

Adaptation: λGR=570
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CEK41−8A
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λ /nm

uλ

logarithmic La, Lo-data
log La =( logGo+logRo)/2
log Lo = logLa + 0,30
log [ Lo, La, Go, Ro ]

uλ=(λ − 550) / 50
logGo = −0,35[uλ−u520]

2

logRo = −0,35[uλ−u620]
2

Adaptation: λGR=570
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